9 Academic Math Date:
Day 4: Volume & Surface Area of Pyramids and Cone Unit 7: Measurement

Volume of Pyramids

To find the volume of any pyramid:
find the volume for the prism with the same base and height and then divide by 3.

Pyramid (Square, Rectangular, Triangular Based)
In this case, the Base of the
pyramid is a rectangle.
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In this case, the Base of the B is the area of the base
pyramid is a triangle.
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Example 1: Determine the volume of this Example 2: Determine the volume of this
pyramid & cm?®. pyramid in m>.
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9 Academic Math Date:
Day 4: Volume & Surface Area of Pyramids and Cone Unit 7: Measurement

Volume of a Cone

Cone — Basically, a circle-based pyramid

Example 3: Determine the volume of this cone in cm?®.

V= T
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Example 4: Determine the volume of this cone in ca.

V=T-"h
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9 Academic Math Date:

Day 4: Volume & Surface Area of Pyramids and Cone Unit 7: Measurement
Surface Area of Pyramids
Pyramid (Square, Rectanqular, Triangular, or any
Polygonal Based
yg ) Add the area of the base
and all the sides
Each side will be a
triangle
If the Base Area is not given, use the appropriate formula to A= m
determine the area. 2
. /\\ : The shape of the base
& > will vary

Example 1: Determine the surface area of this square based prism in in®.
. SA‘ = Ll —T\r.'qné‘:,() + SC[UQ/T_
L
- 6.\ 6
=4 (&) +

- UB43b
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Example 2: Determine the surface area of this rectangular based prism in ft

Shofrot+boack + Lsides = bottom
-2('1?)+ y RIS 5% a5

< 204.5 £4%
Example 3: Determine the surface area of this pentagonal based prism in cm®.

—”'LG:.’“ be 9 —l'f,‘afgfrj
(Sﬂ-—'?)a.sz_ + ';_ffl'ﬂ’(j{/)
5 '5.1(6))
= 79 + ( 2222
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B=70cn®
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9 Academic Math

Date:
Day 4: Volume & Surface Area of Pyramids and Cone

Unit 7: Measurement

Surface Area of Cones

Surface

We will need to calculate the surface
Area

area of the cone and the base.

Area of the cone is Tirs

Area of the base is mr2
Therefore the

Formula is: SA= TMrs+Trd

Example 3: Determine the surface area of this cone if the diameter g base is 3cm and

the slant height is 9cm. _
+0=3 A= Tes +Tv*

S 15 _ 3
e € =T(19)q +77(19)
i =495t
-~
r=19

Example 4: Determine the surface area of cone if the cone height is 4m, and the radius is
(*2 25 f&:TDs+Tf
=9
. = T(DT+TT

= r+am

= 4T
=FY.Yom®
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9 Academic Math Date:
Day 4: Volume & Surface Area of Pyramids and Cone Unit 7: Measurement

Volume and Surface Area of Pyramids - Practice

Round to 1d.p. where necessary

a. Find the volume and surface area of |b. Find the volume and surface area of
a pyramid with a square base of 4cmx4cm | this square based pyramid.

and triangle height of 12cm. .
= (25 3(2 /
(SA‘:L[tV;Q(B‘f)"tlsqum OA= (22) + _5}] f
T I 625+ 15
W+ q[Tj 627 4

_2129»"

= Lot q"; 2.5in
- T
12 om Ve 23]]
1" 1
Vo Rh 41 (257 (23Y
3 3 = 3
=63 1o L DR

c. Find the~velume-
and surface area of
this prism that is
created using all
equilateral triangles.

SA < qti@';_)l

= 2%m™

d. Voluame—asd SA

SA ="Pase + Q_"‘f‘t"m‘f'cr -+ "Fr-'ﬂy’-'_?

=2y 42-[%32(4 9_[%]

=12+ Jev+ 2y
= 525 {+%

ANSWERS: a. 112cm?, b. 21.3in?, c. 36m?, d.52.5ft?
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9 Academic Math

Day 4: Volume & Surface Area of Pyramids and Cone

Date:

Unit 7: Measurement

Yolume-and Surface Area of Cones - Practice

a. b.
Sh= Tes + T~ 18om | OA=Trs+ T 21 cm
(o) (182)+ T (0 = _TPED TR 17 cm
O
—lyzm+looft 25T 4284
:-a'z'gj--ﬂ- - él{bﬂ'
~ 895 Qm" - 9029 T cmt
/
C. d. If a cone has a volume of

175.84cm?, and a base radius of
5cm, determine the slant height of
the cone and calculate the surface

area. Voo 'ﬂ‘,’-h
A 3
= ey
0(2 1 1958y = “'fz’l'" 3
=2 (1hws53) : 4 52.92= 1854k .
| S  Hsy B¢ s 39
= 3499yT h: an] ¢\
- lOCl"lq {nq’
sl 3
SA= Trs+ "
=5 Ru)+T(S)
= UN0F "
ANSWERS: a. 885.9 m”, _b. 2029.5 cm”, c. 648842 d. 8.40m, 210,Sc ™
1005 43,2
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